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Instructions :

1. All questions are compulsory makes are indicated against each
question.

2. Please check that the questions paper contains total 07 questions.

3. Please write the question number properly before giving your
answer.
When the first bell rings. The question paper will be distributed and

- you should go through it properly 15 minutes for reading question

paperonly.
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1. (a)

(b)

AT T DIV ey B (1)

(i)NH, (i) BeF, (iii) H,0 (iv) CH,
AH AT AE % §=1 8- (1)
()AE=AH+P.AV (i)AE=P.AV +P.AV

(i) AE+AV =AH (iv)AH=AE-P.AV

H,S0, ¥ S & ameriteoT e Bl (1)
(i) +2 (ii) +4 (iii) +6 (iv) +8
The mass of 1.12 L nitrogen at S.T.P. (1)
()0.7g. (i) 2.84. (iii) 1.4g. (iv) 3.0g.
The highest electron affinity is : (1)
(i)F (ii) CI i) Br  (iv) |

The No. of d-electrons in Fe*2ions. (1)
OF] (i) 6 (iii) 3 (iv) 4
Which have minimum bond angle. (1)
(i)NH, (i) BeF, (iii) H,0 (iv)CH,
The relation between AHand AE is : (1)
(i)AE=AH+P.AV (i)AE=P.AV+P.AV

(i) AE+AV=AH (iv)AH=AE-P.AV

The oxidation state of SinH,SO; is : (1)
(i) +2 (ii) +4 (iii) +6 (iv) +8

100 T BIWR Fehe (CuSO,) | fhaar Cu wra faram o
b1 87 2)
Sc (XA HHE 21) B AW e B U TR F@wen

30°C TIT 1 R 374 W I1g B 500 dm? T B 200 dm?
a® FRfST A @ oy fhas ~am <9 B smavgaa

grT?

2)
grgorTa &1 AfRaaar &1 Rigra e qun swe
TR FHIBRY B FHER? 2)

Find the amount of Cu obtained from 100 gm. CuSO,? (2)

Write the value of four quantum no. for last® of Sc (Atomic
No.-21)? (2)
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(c)

(d)

(a)
(b)
(c)

(d)

(a)

(b)

Find the minimum pressure necessary for compression of
air from 500 dm?to 200 dm3 at 30°C and 1 bar

pressure? (2)
Write the heigenberg's uncertainty principle and explains
its mathematical equation? (2)

A B T I Hal Mg B T JTFT Fail A B
och 2 il @)
UF 93 ¥ B TR A ET3gIo g Y Hrwar 3.8x 107
M 2, 39D pH Td HT? @)
W @ fer o0 A 3 fram A @ AR |
Hfe?  https://www.upboardonline.com (2

S.TP W f&d A1 @ 0.1 UH & Iga+ s6 A 8139

A T JOPR T AT | (2)
First ionisation energy of Al is less than the first ionisation
energy of Mg, Why? (2)
The hydrogen ion concentration of a sweet drink is 3.8 x
10-3M. Find the pH value of drink? (2)
Write the Hess's law of constant heat Summation with
example? (2)

A0.1gm. gas have 56 ml. volume at S.T.P. Find molecular
mass of this gas? (2)

FIERIo T 341 27 T fhe) wow &7 var &2 Iemewy

96 Wfwa ¥ergRE v (MR A) 1 3MAE a9 184
& | 371 B HreRar A o Hfdre? (3)

IR @1 T e R g e ffag? ©)

Peferfad aRam] Bmis At aeal @ IUPAC A Td wete
ferferg?

. (3)
() 104 (ii) 109 (iii) 117

What is hydrogen bond? Write the type of hydrogen bond
and explain with example? (3)

The relative density of 96% H,SO, (by mass)is 1.84. Fing
molarity?
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(c)

Write the Bohr’s Atomic model and its limitations?
Write the IUPAC name and symbol cf the elements which

(d
) having following atomic numbers :
(i) 104 (ii) 109 (iii) 117
5 (@) g Hyy 3126°C TTTETC T
_212.8KCal,-94.0KCal 3X -68.4 KCal # CH, & F=a
&S B 0T HHAQ? @)
@  fyeraied gea famg waT 58— )
(i)NH,CI (ii) Al,Clg HNO,*  (iv)HSO,
T P wheRe 3 e g R g wgeT
R | 4)
P+0H = PH;+H,PO,
g ST §ee (Na,S0,) 3 vuierd =1 7 @ E4E
wftrera @1 aR@e BIig? (4
5. (a) The heat of combustion of CHy), Ci5,2nc Ha, 81 25°Cis
_212.8 KCal, -94.0 KCal and -68.4 KCal 2 CH,. Findtre
heat of formation of ?
(b) Draw the Lewis dot structure of the following : (4)
())NH,C! (ii) Al,Clg (i[HNO,*  (iv)H,SO,
(c) Balence the following equation by ion electron method. (4)
P+OH — PHy+H,PO,
(d) Find the mass percentage of each elementinNaS0,?
s & VSEPR fgit T # 3 SER W NH, H,0,CH,
# Ry @ g FIR? o
. Wmiﬁﬁmﬁmmﬁisﬂﬁ qRICT ©
oyt FHIBROT R 1Y T4 STEG1 FHTE FEEET | s)
()  250,(9)+0,(g)c=28S0;,(g) AH=-452KCal
(i) Na(g)*+3H,(9)== 2NH,(g) + 22400 Cali.
Jrqar
frfafad R e fewol forfag | (s)
1. TS
2 FEMfo BT were fram
(Class 11, Chemistry) (4)
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(a)
(b)

(a)

3. g fAmA

s, Ife e faad
What is V.S.E.P.R. Theory. Describe the geometry of NH,,
V.S.E.P.R. theory? (5)

H,0, CH, onthe basis of
Write the Le-Chatelier's principle. Explain of the effect of

temperature and pressure on the following equation.  (5)
(i) 2802(9)+i£}2(g:1)\..—ih 25054(g) AH =—452KCal
(i) N,{g)+3H,(g)==2NHy(g) + 22400 Cal.

OR
Write short notes on the following :
() Resonance

(ii) Hybridization

(iii) First law of the thirmodynamics.
(iv) Hund's rule

(v) Modern periodic law.

Wﬁfm$ﬁmwmﬁﬁt{m@rﬁm
3 = NH, & fo1q Kc &1 74 fafag |

- N2+'2_H2\—"

2
fo=farRad ) aRiYa BT | (5)
1 golag @l gdl I
2 AGETS P [

3. ey o fAgw
4 n+|
5 qraelt &1 Igaai 139
Jqa
freforfaa 3 Y@ifed GRATT & ARG HE& 9
PIIY | (5)

() Cro; (i) (NH),Cr,0;

(i) KMnO, (iv) §,_,08'2 (v) K,[Fe(CN)gl

Write the law of the mass action. Find the value of the Kc

for following equation? (5)
1 3.,

? N2+—2' sz\— NH3
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(b) Explain of the following :

(i) Dualnature of electron. (i) Aufbau'srule.
(iii) Charl's rule (iv) n=lrule
(v) Pauli’s exclusion principle.

OR

Find the oxidation number of the underfined elements of the
following :

(1) Cro; (i1) (NH,), Cr,0,

(ii) KMnO, (i) $,087 (v} Ky[Fe(CN)g
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